Lesson 1.2
Following Orders or PEMDAS

O n a mathematical expression like16+5-35, it may not be clear if we should add the 16 and 5
first, then multiply by the 35, or multiply the 5 and 35 first, then add the 16. One way gives
the answer of 191 and the other is 735.

16+5-35 16+5-35
21-35 16 +175
735 191

Which is correct? To avoid confusion, an official order of operations has been established.

Order of Operations
PEMDAS:

P- POrQNTIESIS
E-£Xporents

MD - L PN ci i on / dlivi Siory
AS - Qddunon/ SwWoNachory

So, what is the correct answer to 16+5-35? Find the work at the top of the page that follows the
O correct order of operations, and circle that answer.

Here is another example: 8[36-3(2+5)]+8+3= 8 [_—3&9 = 5(7 )J "'? 3
= 3[2b-21 35573

=3[151=8+3
= 2D FRF S
-®
-
Now you try a few:
1. 25+5+4-10= . 2 9-2-12+6=
5140 =) 18-2
3. 53—18+3+(6—4)= 4. 327+(6—3)+2=
-0 =Z 7-3=2
a4-3 :@ 922 =9-us
RIS e
- - -(4)+80-(2)-
® a3 4-4+40-0
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Evaluating Expressions

We have learned that, in an algebraic ex ression, letters can stand for numbers. When we
substitute a specific value for each \Z d ] !(] t }!' g") , and then perform the operations

according to Order of Operations, we are § j M P LW NOCL
L) ﬁJ

Let’s evaluate the expression 5x+2 when x=6.

5( (0 ) TZ 1. \Su b&hmTL each letter in

50 +2 the expression with the assigned value.
3 2_ 2. Perform theODQra‘h(‘,nS in the
expression using P
EMDAS .

Now you try some!

1. 3y+2y when y=5 2. x+5 when x=5 3. 10/x when x=-2

S5t 2(S) I —
J%—j@lo %)6 ’-’2{1:’5

| KMOEWACHESSY
0-2-5

3-5 «(3)

5. Iflis the length of a room and w is the width, then the expressi be used to
find the perimeter of the room. Find the perimeter of a room with a-temgth of 11 and a
width of 13.

2l taud k
(1
211 )+ 2013 -

22t 20 :'
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